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OR (3121an)

What is managerial control ? What are its different

methods ?

ydgeg faFer | 8 ? saal fafr=
gorferal &1 4dIsv |

9.  Which factors should be considered while

designing M.L.S. ?

TH. IATS. UY. & YTOU JAR Hd 989y fH+

qIdl U €q19 ST Aa3IH & ?

OR(37214)

Explain the role of a manager in an organisation .

AT § yagd DI YRS We HIfIg |
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Time : 3Hrs. Sem - I11 / MOP
MIS

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4w uig gl & SR <, 9AS U BT 4 435 ¢ |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

TP Ued & 9 39T BT SR TP &) S8 (AR HH H)
BT ARy, 9T 4 Siid &1 o 9ad @ |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5. What do youb understand by 'POSDCORB' ?

qicsdid 4 MY T JHsId & 2

OR(3721dT)

Define flow-chart with example.

Foldre &l S<rexvl & 91l yRATRa HIfeiu |

6. Define C.P.M. and Pert.?

N vy vd ud 1 gRumeT NS0 |

OR (3121a1)

Explain the meaning of Information system.

YaT—ad &1 3ef wee By |

NT3034

(i)

(iii)

(iif)

(iv)

1626303

e qr @ ?
(31) wa smEnRa
(@) &t asmemlRa
(|) <& amemRd
() arEft smenriRa

Which of these is a downward
communication ?

(a) Reporting

(b) Order

(c) Answering

(d) None

38 @ ®i9 e Hgwor @ ?
(31) Ruld &z

@) R

(W) Srar9 _AT

(®) B &l

Which is called brain of computer ?
(a) Key Board

(b) Monitor

(c) Mouse

(d) C.P.U.
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Uh IR UH.3MMS.0Y. ©Ifid 8 91 &
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(%) SWIad ®Is L)

GROUPB
Answer all Five Questions.
o . . 4x5=20
Hl ufg gl @ SR Q|
2. Why computer is important in M.1.S. ?
4

TH.ATE. 0. A $eY Il wgayef 2 ?

OR (3121an)

Explain different types of system.

fafr=1 yoR @ 93 B W ST

NT3034

(vi)
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(viii)

5 1626304

wH.ang g, W aftafea € ?
(@1) AW

(d) dAirecdaR
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(%) Swiaa g+l

M.L.S. provides a system of -
(a) People

(b) Computers

(c) Procedures

(d) All the above

T3S 0. 30 9 fhudl wyaverr yeH
T & ?

(@) 7=

(@) PR

(@) vsfa

(a) SuRiad @

Telecommunication is vital characteristic of -
(a) M.M.S.

(b) SM.S

(c) SM.LS.

(d) All the above
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(xvi)

(xvii)
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Computer chips are made of -
(a) Fiber

(b) Magnet

(c) Metal

(d) Silicon

e} &1 fau fea Aier § g1 ghar
8 ?

(31) wIgaR

(@) 9@

(W) =g

(2) tafaei=

Which is a limitation of MLL.S. ?

(a) It takes only quantitative factors into
account

(b) It uses information as weapon

(c) Design of MLL.S. is considered as Skeleton

(d) All the above

NT3034
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Decision making is -

(a) Complicated process
(b) Occasional process
(c) Continuous process
(d) All of above

foota ufspar @ 2

(31) wifee ufspar

(@) & HUR BT yfpar
(&) \aa yfear

(%) Swiaa g+l

Information cycle is -
(a) One sided

(b) Two way

(c) Continuous

(d) None

P.T.O



O'Ld

wnIpd]y (p)
do1nog (9)

10p023( (q)
Iopoouq ()
- £q papo9 st oFessow Ay |,

e (2)

binlkky (B)

LeRID BilkoL (5)

lrh ()

i @ bl bok PR

B kb3 b lkkk Mh [Rld & IAR

10ppeT (P)
Suruued (9)

1ey) [euonesiuedi) (q)

uonesiuesiQ (&)

{ om

[euonesIue3Io JOA0 [01u0d sd[ay YOIy

R Dblahe ()

21k bRIBLA 2 (B)
2Lk kRJRIE RISS (b)
2Lk BRIRLIA B3R ()

¢ 2 Ikb bl 3D 1o Rpip

r0€9791 6

(1a%)

(a%)

(a%)

(A1)

PEOELN

aroqe oy 1V (p)

1) 3uIssa001d 19A0)) (9)
nu uIssad01d [01u0)) (q)
nu) 3uIssad01d [enud)) (e)

"N1'd"D JO W0} [N A ST IRYA

Bk Ele ()

playat (1)

ARp2hl (b)

Meppia (1)

i @ b2® Ikb 1& Ihik 3hee

duoN (p)
Axduryoe (9)

aremyjos (q)
drempiey (e)
- porreo st 93enduel 19ndwo)

Bk 3o (2)

Ak (B)

1hxb > (b)

Lhdb bj (k)

¢ 2 1D|2 IRk &b bl

PEOELN 8

(A1)

((2199)

((2199)

(%)

Y0€9791



1626304 17 NT3034

10. Which are the basic steps of MLL.S. ? Explain its

11.

main levels.
6

TH. JAT3. 4. & Y& a0 &l W By |
3O <1 W)l &1 9arsv |

OR(372rd)
What is D.S.S. ? What are its characteristics ?
SIUE.QH. BT & ? sHa! faRiva qdrsy |
Why MLLS. fails ?

TH.S.SY. b ol gidar & ?

OR (3121a1)
Explain in brief Office Automation System .
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10. Which are the basic steps of M.L.S. ? Explain its

11.

main levels.
6

T, ATS. Y. © &I AR B e BRI |
59 <1 W)l &1 9arsy |

OR (3721dT)
What is D.S.S. ? What are its characteristics ?
SLUATE. BAT 8 ? gad) faeivad sargy |
Why MLLS. fails ?

UH.TS.SY. b &l 8ldl & ?

OR (3121dT)
Explain in brief Office Automation System .
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